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2.1 min 18 C, ( Do
A.18 A B.0.3 A C.0.18 A D.3 A
3. 200 mA, s ( o
A. 200 mA B. 200 C C.0.2 A D.0.2C
4. , ( Do
A. B.
C. 47 D.
5. 200 mA, 10 C
( Do
A.0.05s B.2s C.50s D. 2000 s
6. Izg, ( )
A.
B. s s
C. ,
D. s
7. 30 C s 10 C s ( )
A. B.
C. . D. )
8. . s 1:2, 1:2,
( Do
A.1:2 B.1:1 C.1:4 D.4:1
9. o . .
10. 0.2 min 2.4C , A
s 3.6 C -
11.0.5 A= mA A
0.5mA=__ A pA
0.5 pA mA = A
12. 5s 3C, ?
12 C, ?



5 H @z rna

13. ,3 min
5 min ?
¥/ ; N
T BT
1.
(1 s @,
(2)
~3 A, 0~0.6 A , 0.2 A,
0~3 A . 1A, 0.1A,
2.
QD) s
(2) , “4-7
(3) o
(4)
1!},'9 & 58 TL
7 0 w8 J3 1)
T8 ST
1 5-1 N ( Do
A. :0~0.6 A;0~3 A;0.6~3 A
B. :0~0.6 A;0~3 A
C. :0~0.6 A;0.6~3 A
D.

90 C,

0~0.6 A 0
0.02 A,
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2. 5-2 . ( Do
A. 0~3 A . 0.5 A
B. 0~0.6 . 0.1A
C. 0~3 A . 0.1A
D. 0~0.6 A . 0.5 A
3. . 0~0.6 A -
) 0.2 A, 0~3 A ,
0.18 A, ( Do
A.0.2 A B.0.18 A
C.0.19 A D.
4 5-3 . L, . (
1888 11
1229 11
®
B C D
5-3
5. - . - .

6 . “—roe3r ,
A, A “—r %0.6”
A, A,

7 ¢D) - $(2) -
’ - s ;(3)
O] -
8. 5-4 ( ) L L, ,
A L A, L, . .

9. o 0.52 A, 5-5



5-4
/ -
%ﬁ,,ﬁgﬂ_@iﬁu ,,,,,
1.
(D s
2 , o
(3) s
u+” s “__» .
(4) b b
2. :
=1, ’
3.
=1L +1,+1.
THmEAD
v’!/,% ”ﬁ‘ ||92?\;TA ~
1. 5-6 s
VPN PN P
A.l,=1,=1. B.I.>I1,>I,
C.1.<Il,<I. D.I.,=1,+1.

2. 5-7 s

a.b.c . I —
¢ a
Do L L,
b
5-6



. B rusam

ab.c s
1., ( Do
A I.>1,>1. B.I1,=I1,+1.
C.1.>1,=1. D.1.=21, 1.=2I.
3. 5-8 . A,
A, 0.6 A, A,
A.0.2 A B.0.4 A
C.0.6 A D.0.8 A
4. 5-9 3 3
As, 1,.1,.1;,
( Do
AL, =1,=1, B.1,<I,<lI;
C.I,>I1,>1, D.
5 ¢ ” ,
6 5-10
b ,
5s
6C, b
7. 0~0.6 A 0~3 A
5-11 a b
a ,
b s 5-12C )
“ ™) ; a
b A o

b
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D.
6. , ( )
A.
B.
C.
D. . .
7. 5-14 s ( Do L@ T @1
A. S8, . L. L, , _L®_LZ =
Li.L, P i
B. S, S, . L, . ‘
L,
C. S, S, L L, . ol
L,
D. S1.5,.8; . .
8. 5-15 . Li L, L,
. , ALALLA,
I,.1,.1,,
AL >1,>1, B.I,=1,=1,
C.I,>1,>1, D.1,>I1,+I, s
9. 5-16 .
s C .
A. ®
B. ®
C. ®
D. 1 ®
R—® —R—o" R— —
XR—o &K K—® Q@
® K
L L I :
i3} Z W 1
5-16
10. L, L , L, L, ,
( Do
A. L, B. L,



Cz) 0 B @O zrma
D

C.L, L, . s
]l- ’ b .
12. o
13 5-17 s 1s L,
0.5C, L, 200 mA,
L A, L
A
4. . s 4 5-17

17. s s s

38, s 4.5 A,

18. 5-20 7 : s Eﬂ g

° 5-20
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(@) ) s o
2 o
19. 5-21 s s s B
— — B o @
20. : (D)
5 (2) ,

1. 2001 C .
A. B.
C. D.
2. 2001 Ly L. L,
5-22 , A As A, 10,1,
C .
A.L,=I,  B.IL,=I,+I, C.I,=I,+I, D.I,=1,
3. 2001 5-23 s ,
L, C o, e

- Lle sz
Lo, J L |L -f|’-\ L® l L +
| @ T T

A B C D

A.a B.b ¢ <L
C.c D.d
5. 1996 5-25 s , 5-24
( )
6. 1996 2.5 A,

1800 C, min,



A B c
5-25
7.1997 1 min 18 C
A, mA,
8. 1996
#A 1 min
9. 1998
5-26

5-26



(D , .
2 N N o
(3 N o

D . o

2 , o
(3 , o

(€Y o

¥/ F N
% BENS

1. : s s
U .
2. : s , V., kV),
(mV), (V).
:1 kV=1000 V,1 V=1000 mV,1 mV=1000 pxV,
1 U=1.5V, U=2YV,
U=220V, 36V, o

w



Ci 7 8 44 Q@ rnma

T EHBIER

A. 380V B. 220V C. 1000 V D.36V

C. 220 V,380 V

mA,5 s C,

(1.5 V= mV= Y%
(2)1.5X10° pV= mV= kV
10. s s .

11. s s
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5/ ; \
% BT

1. : s
© .
2. : \ .
; :0~3 V;0~15V,
0~3V , 1V, 0.1V; 0~15

v, 5V, 0.5V,
3.

P . .

(2) “+ .ot .

T SRR
1. 6-1 . L.L, s
( )
A. s
B. s
C. 6-1
D. .
2. 6-2 sab.c s
51,5, > ( Do
A.ab.c B.a.b.c
C.a.b 5 D.a N/NG
3 .63 o
( Do
4. 6-4 s S, s s



5 H = KA E

o0 w e

A B C D
6-3
a L, b
L,
L L,
6-5 . L, ,
I, , 6-4
).
6-5
s —o"— k|
“ ” —®—O0— E—HG
- ° O) ®_
’ _ (a) (b)
— 6-6
6-6(a) (b) . .
AV, :
6-7 . Li. L, .

L. L 67



. B rusam

10. 6-8 . Sy
A Sis
Sy, Vv, o
6-8

T BLR
1.

[@D) ,

(2 o

(3) o
2.
3. o
T 0 8 75 1)
&/, I
% S\ g
1 6-9 , S, S, s

( ).

A. L,

B. L,

C.

D. L, L,
2. 6-10 R 6-9

( ).

A. 3.0V

B. 0.6V

C. 0.6V, 3.6 V



AU =U+U, U =U"\+U",

@ w51 QBODE 2 nns
D.
6-11 . S '
S]» ’ ( )
N B.
c. D. o1
l?
J ’ l-“-l'_g
U, U, v
UL, e
C .,

B.U =U,=U, U =U\=U',
c.u =U,+U, U =U,=U,
D.U =U,+U, U =U"+U',

6-12
A3V
C.3V
A.

B.
C.
D.
6-13
L, ,
A.
\%
B.
C.
\Y%
D.

6-14

A.

~
€2

s s Si 3 Sy
3 ;S .S, s
4.5V, L.L, ( Do
5.5V B.1.5V 4.5V
1.5V D.1.5V 3V
( ). 6-12
s 6V, L,
S . ( Do
L, N 7 N
L, s \
L, s L, s
6V
L, , \%
, S )
sab.cd »  cd\be.ad
( ), 6-14
B.
D.
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9. 0~3V 0~15V .
> U =3.8V,U =6.2V,
.V U , o i U
10 6-15 , , S ot
(:) I N
s A o, V, ﬁ
e V; s S ’Vl
7V2 °
- 6-15
11. WV, 6V ,
- . Vv,
A .

122 616 : e
S , , :{?—Iﬁ

14. .

v

—
~
~
o



C. L
D. L,

6-19 >
L. Ly.L;
A.2V.2V.6V
C.2V.4V4V

6-20 s
9V,
A. L, ,
B. L, s
V,L,
C L, ,
D. L, s
6-21 s
L, s
A.ab.c
B.a.b.c
C.a.b

B.4V.4V.2V
D.4V.6V.6V

( )
} ||—---|I
Ll 2
N
. 6-18
. 3V, 5V, ( Do
L,
3V L, I,
b —
6V, 4V,
( Do

12V, , Ly
( Do
v, 9 V.V, 3V o %
A 12 V,V, 0
% 0V,V, 12 V., L,
Vi 12 V,V, 0V.,L,
NN , L. (o~ ]
OrR-+-Q10
C oo Lk
|+---|.—os/

6-21



. B rusam

D.a Jb.c
8 6-22 \ S
( Do
AL A LA,
B. A, LA,
C. A, LA,
D. A, A,
9.
( Do
A.
B. ,
C.
D. )
10. )
A. ,
B. ,
C. ,
D. ,
11. 6-23 ,
be y od
( Do
A.
B.
C.
D.
12. 6-24 ,
( Do
A. L,
C L,
13. . 2.5V

ad

L,
L,

6-22

89

ab




16.

17.

18.

19.

6-25 o ——rl—
, p
@ Uis Us, L; § L,
. L, LI
6-26 s Ly Ly Ly
S , A
o . B a
"' b.cd.e
V. V. V. V.
, B avbic.d.e
V. V. V.
V. \%
6-27 s A, 0.12 A,
A, 0.8 ALA; 0.14 A,
2.9V, s -
L, s Ly -
L, L, , A, L, s
AL ’ Lo ’ 6-27
518, S L.L, o
6-28 o Li.L, s
Li.L, s L, s L s
Ly.L,, 6-29 s
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C. L, D. L, 6-30

D. s
6. 1997 s

A.6 9V B. 36V
C. 220V D. 380V

7. 1996 6-33 L,

8. 1996 6-34 . S s ab



Co ¥ 87 DG wrna

A.a
B.a.b
C.a
D.a.b
9. 1996 6-35
ViV, L.L, s 6-34
6-36 (a).(b) s L, A Lo
v, Vv,
5 10 B
Q0 & Q0 ®
(@ (b)
6-35 6-36
10. 1998 6-37 o 6V, S
. L , V, 6V, \A
11. 1996 6-38 s
s ViV, 6-39 C H).C H.C ) s
ViV, Vs Vi= V,V,= V.,V;=
vV,

6-37 6-38



Te SN Tem

=

D.
2. 1991
SV

B. a L, b

93

6-40



) £

P ol o
o

¥/ F N
% BENS

1.
R o
2 s s Q.
1 1
kQ) . (MQ),
1 kQ=1000Q
1IMQ=1000kQ
3.
T mESn



© P

o

=

>

C.

O P~

@@@@ Bit 5 S @

T EHBIER

( )
, (
B.
D.
C D.
( Do
C D.
Do
B.
D.
, ( Do
( Do
B.
D. .



11.

12.
13.
(1)500 Q=

5 H @z rna
B.

kQ=

D.

(2)500 MQ=

kQ=

14.

15.

=}

Te TEMR

>

|

(D

2

100 Q,



. B rusam

3 .
(€Y)

L ).
A. ,
B. )
C. ,
D. i
2 7-1 y P
( ).
¢ &
A B A
A B 4
A B C D
7-1
3 7-2 s S .,
( Do
A. P b N
B. P a .
C P b .

0~9999 O

bl

7-2

97



Cog) 0 B @O zrma
(

4. Do

6. “15 Q,0.6 A” s (
A. 15 Q, 0.6 A
B. 15 Q, 0.6 A
C. 15 Q, 0.6 A
D. 15 Q. 0.6 A
7. . s

9. 7-3 s ’ aopb

“50 Q.1 A” s .
O, P a s

<
o
Z

(a) ’
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s r 5 N A . M
r S
}_“'"1 A B
C D
@ (b)
7-4
11. 7-5 s r
(D) ; (2)
(3) 3 (4) B
£ £
e &P ¢ D c 1 b C D
N O
4 B 4 B A B
A B C D
7-5
12. s “X1” *X
1000” o “X1” “X1000”
4.6.3.5, o
*
%), —g5i
T DL
1.
[@D) s s
(2) o
® .
@) ,



~4

=KLl T

P
&

/"”'\
C100

DRI

(D
1.
(2
2

&

i

//‘

i

Z

D\

1s



. B rusam

~
€2

o

oSowp

r

(
A.C
C.C

7-6 . cd R.
e d ,ab
Do
R
d sab 0
, P« d
Do
, d 0 B s
R D
( Do
B.
D.
7-7 s ,
C s
Do
M,D N B.A M.,B
M,A N D.A M.D
Do
B. (C
( Do

sab

R

O T
A%

7-6

-7

101
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~
€2

10.

11.

12.

13.

14.

oo

SinSpaSes

Py
P
P,
P,

~
°

7-8

S.>8,>S.,

7P2
5P2
7PZ

’

Do

N

avb.c,

%
-

n

C.1/x*

7-8



OeDE nisam C

15. ,
( Do

A.1/2 B. 4

C.1/4 D.
16. 1m, 1 m?

( )

A.

B. N

C.

D.
17. 7-9 NN , P d

( ).
a bo b,
&—r
4
A
7-9
18. s s
19. s
20. 10 m s 1Q, 20 m
Q.

21. s : o
22. o s

10 s o
23. 7-11 ,

103
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104

B M @@_ % I R

1. 2001

A.A D
C.B D
2. 1999

4. 1999

o

X 1000

X100

J
o

%10 1

7-10

B.C B
D.A B

b

7-15

7-13 ,
( Do
Do




. B rusam
IO

A.
B.
C.
D.
5. 1996

D.

°

s

7-16
. R R
( ).
R
R .
R .

7-16

105




N

= 3 4 EAEDE)DE) = i rE

1.
A}

o BEAVUL
1.

oY) ,

&) o

3 . .
2.
3.
£/ N
e Bl
1 ’ ( )

Dowe



2. s ( Do
A.
B. s
C.
D. s
3. ( Do
A. .
B. .
C.
D.
4. Uv, 1A,
( Do
A.21 A B.3I A C.—TA D.4I A
5. s R I,
. ( Do
A. 31 B. LI C.21 D. LI
3 2
6 Ry R,=2:1, .
7. s P
V) ) (A)
4 5 0.8
4 10
4 0.2
8. °
1 R, =50Q
V) 2 4 6
(A) 0.4 0.8 1.2
2 R=10Q
%) 2 4 6
(A) 0.2 0.4 0.6

107

3R



&) ¥ % 4 Kl 3
2

1 9’
5 == \
E2TE
1. 19 N
LY
=
U V.R Q, 1 A,
f I1.U.R
_U r_ U
2 1 I :U=1IR R= T°
R= l] o
U
- o 1{ == 7
U=IR, ,
HHBEAD
& N -
e SR
1. ( )
A.
B.
C. s
D R= (}
2 ( Do
7
A. 1= % s s
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U
— T —
B. 1 R’ U=IR, s
. U U
C. I——R ’R__I s s

4. 2V, 0.1A;
4V, ( Do
A.40 Q,0.2 A B.40 0,0.4 A C.200,0.2 A D.20 0,0.3 A
5. 8-1 , S8, s
( Do

oSOow e

U
D. R= T

8. RI\R..R, , 8-2 .
0.40.60Q, ( ).
A1:2:3 B.3:2:1 8-z
C.6:3:2 D.2:3:6

9. , 8-3 « Ri\R:.R; 20.40.6Q,




Al:1:1
C.3:2:1
10 8-4 s
L, L,
6V )
A. L, s
v
B. L, , s L,
6V
C. L, s WL,
D. L, , L,
11.
12. , U
2U s
13. 30 Q
mA,1 min
14. 1 4V s
A
15 8-5 s s
4V; S )
Q,
16. 8-6 o s
1.5 A, .V,
'
85
17. 2.5V

6V
C.
0.2 A
0.4 A, R
R, 3Q,
S 9

, 1.5 min

6V
6V

8-6

8-4

0.1A,

Q.R,

45 C,



\1 /T‘ \\ ,\ S S o 11
4 Q

lSo ’ ’ b
?
19. ,
3A, 3A,
7 ( )
20. 8-7 . Ri=30Q, , A
0.3 A, A, 0.2A, R, 8-7
¥/ - N
KT
1.
U
) 1{ - 7 ’ o
3-8 . . .
4. .
R R, R,
Ro= . ot
A
T DEEn
) Ny
8 SAIGam
1 R, , 8-9 ,

~
~



A.0~15V
C.0~3V

0~3 A
0~3 A

’

8-10
s 5Q, -
0~3V 0~15 V), R,
.6 A 0~3 A), 4.5
8-11
B.0~3V 0~0.6 A
D.0~15V 0~0.6 A
, ( )
s 8-12 o P
( )



s

o0 W

(D

2
[)

(&)

D

10.

0~3V

(D

2
(3

11.

8-13
“+”\u7” R @ mmm
r 8-13
0~3V . 0~0.6 .
2 3 4
) 2.0 | 2.5 | 3.0
7y 0.41 | 0.48 | 0.6
)
0~0.6 A 0~3A; .
0~15V; , “1 A.18 Q” ;6
6 Q s
. . 1.

1.0V.2.0V.3.0V



)

v

TN - =Y V- - .
(114 W8+ EE@E = ira
, Q.
1 2 3
UV) 1.0 2.0 3.0
J@N) 0.2 2 0.6
I \
T DL
1.
8-14 o 7 I, I, A
2 R_| K R
* I U, T [7A T [ 1
I=1,=1,=-=I, -
3.
U=U,+U,+-+U,
4.
R=R,+R;++R,
5.
U & U_R
U, R, U, R,
1!},'9 & 58 T&
& D R 15 [

4V,L,

L,
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12V, L, C .
A 16V B.12V C.8V D.4V
2. 8-15 , L. L L, L oL
6 Q.L, 90, 18V, s
(D L, , C L
A.0 B.2 A
C.3 A D.6 A 8-15
(2) . O,
A. B
C L, D
(3) , O,
A L, B L,
C D.
) , . O,
A. B
C. D
3. A.B 10 , 8-16, 0.4 4B .
A, R=10Q, :A.B R, R £
0.2AC )
A.10 Q B. 20 Q o1
C.30 Q D. 40 Q
4. 8-17 , S P
a b ( ).
A.
B.
C. .
D s 8-17

5. 8-18 R 15 V,R, =5 Q,R,=10 Q, = -
. ( ). !

A5V 0V  B.5V 15V s
C.10V 5V D.10V 15V
6. 22 . 220V , 818
( )
A. 200 V B.10 V C. 4840 V D.0.1V
7. , , , ( )



C118 0 B @O zrma

B.
C.
D.
8 s R, 2R,
. 4V, ( Do
A1V B.2V C.4V D.8V
9. s 3 oo
Ry R R,=_
10. , s o
11. R,=3Q, R, 6V ) R,
0.67 A, R, AR 9,
12. . , 0.12
A, 10 Q s 0.10 A,
o ( )
13. 8-19 , \Y% 8V,
Vs 5V, R 12 R, |—IC?1I—‘

14. 6 Q 220V s Eﬁ

10 A,

? 8-19
15. 30

£ L )

ol
.
7 ER e
1 s 8-20 o I R,

I T,
2 e A R,
L U

I=1, 41+ 1,
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S L — L
LYZLYIZL,VZ:...:(J”
4.
11,1, .1
F*Rfkf +Ru
5.
L R IR
I, R, 1, R
T BT
7 00 e J3 10

’ N

T SR

.

1. 8-21 R R, 2 .
s ( Do
A + B. 2
1

¢ b. 4 8-21
2. ( )

A.

B.

C.

D.
3 Ry R, . 3:2,

( )

A2:3 1:1 B.3:2 1:1

C.1:1 2:3 D.2:3 3:2
4. 8-22 . JRI=2R,, S



C118 5 H @z rna
Al:3 B.3:2
C.2:3 D.2:1
5. 8-23 . 10 R, 6Q
R, , ab s
0.5 A, R, I,.ab , .99
( )
AL=0.5A U,=3V
B.I,=0.2 A U,=1.2V
C.I,=0.2A U=U,=1.2V 1
D.I,=0.3A U=1.2V
6. 8-24 , Ros AB 8-23
( ) p
A.3R, B.2R, C.1.5R, D. %RO X
7. . R Ryt R,=3: ?
2:1, I+ 1 1, U,
U,:U; ( Do 8-24
A6:3:2 1:2:3 B.2:3:6 1:1:1
C.1:2:3 2:3:6 D.3:2:1 1:1:1
8. Ri=6Q R, , 18Q, R
R C .
A.12 Q B.8 Q C.40 D.2 Q
9. , ( ).
A2 1 B.1:2 C.od:1 D.1:4
10. , 9 Q,
( Do
A1Q B.3Q C.27 Q D.9 Q
11. 8-25 . A 2.4 AWR, t Ry= .@“
3:1, A, A, & U
C .
A. A 0.6 A
B. A 1.8 A 8-25
C. A, 0.6 A
D. As 1.8 A
12. 8-26 . .S , A A,
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A A,
B. A,
C. Ay
D. A,

13.

14.

Q.
15. 8-27
L\ L,

(O 5
@ S
A\

16.

17.

20. 8-30

119

10 Q

LA,
VA,
VA,
VA,
) 20.40.60Q, 8-26
. Q,
R=20Q,R,=10Q,
I : 12:—7
U s U,=
Ri=3Q,R,=6Q,
S, . A, A, 8-27
»Ss s A A, A%
6V s
1A, _Qa .
120 Q,
. )
1
1
Q .
, 12 V,R =6 Q,R,=12
WS 5 s A 0.6
Ve Ar 8-28
S, s 6V,
A, A, A,
N L, 0.4 A, L, 0.6 A,
15 Q, A? L,
?
. 12 V., L, 20 Q,L, 10 Q. 1L,

L,



C120 @O = ima
8-29 8-30
21. 8-31 A.B , L, L, 20 Q 40 Q,
S1.5:.85; s A LA, 3.9 A 2.7 A, (1)
]41 ‘7 (2)55 751\52 ) /\1 AZ
?

22. 8-32 s 6 V,Ri=6 Q,R,=3 Q,R;=4Q, :(1) S,
S b, AA, ? S, .S a s
ALA, ?

8-31 8-32
* *
% 2oVl
1. 8-33 . s S s
( ).
A. s
B. s
C. s
D. , 8-33
2. 8-34 s s
V, 12V 4V, A



@@@@ Bit 5 S @

1A, ,
( Do
A.V, 12 V,V, 4 V,A 0.8 A
B.V, 12 V,V, 2.4 V,A 1.2 A
C.V, 9.6 V,V, 2.4V,A 1.2A
D.V, 8V,V, 4V,A 0.8A
3. 8-35 s Ri=R,=R;=3Q,() S,
S, sab (2SS, NN
;(3) 5 »Ss savb

121

( Do
A.9Q,1 0,60 B.10.,9 Q,0Q
C.10,90.30Q D.9Q,10,30

4. 8-36 . . P , 8-35
( Do
A. .
B. .
C. .
D. ,
5 . 8-36
. , ) ( Do
A.5 B. 6 C.7 D.8
6. . . .
( ).
Ad:l B.1:4 C.2:1 D.1:2
7 2 0 . 3, 3R
s s , ( Do v % R,
A B J ®
C. D.
8. 8-37 L U=24V, 8V, 047
2A, R ( ),
A.12 Q B.8 O
C.60Q D.4Q
9. 8-38 . . S,
.S, , 3V; S, .S, s



TN
122

( Do

A3V 4.5V B.3V 1.5V

C.1.5V 45V D.1.5V 3V
10. 8-39 s

R R 1+ 2;

A.S1.S, s R R,
B.Si.S, ) R, R,
C. S s ab
D. S, , ab
11. 8-40 , s

oF P~

R,
D. .
12. 8-41 JR; =90 Q,R,=60 Q,
36 V . ,
, s ( Do
A. A, 0.4 A
B. A, 0.6 A
C. 14.4V
D. 36 V 8-41
13. 8-42 . s R R, R
R, ( Do
A.R,.U,.U, | |
B. R;,U;,U, 4
C.R,\ U, R; .U,
D.U.I.R,.R;
14. 10 Q, 6V 8-42
18V , ( )
A. 20 Q B. 20 Q
C. 20 O D. 10 Q




D@ wus53m

— ‘
mm“““‘\@g, .
5

15. . , .
. ( Do
A. B. . .
C. D.
16 R R, U ,
U, ( Do
A.L,:%U B.UIZR';;RZU
C.U,:Rlisz D. Ln:%zkzv
17. R, R,, R,=nR,, .
I.,R, R, I, I, (
A.I,=nl, B. 1=+ DI,
C.Ilzﬁl D. 1= 251
18. 20 Q 60 Q
, ( Do
A.200Q  60Q B.oQ 15Q
C.15Q 20Q D.0Q 20Q
19. R.R, R, , R,>R,>R,, 8-43
. R, ( )
A. B C. D.
t-{r {-fr
R, R; R, R, R,
(Z) (W)
8-43
20. 8-44 . AB 10 Q
, 0.5A, AB
s ( Do
A .25 A
B .25 A
C. 0.25 A
D. R, .
21 8-45 . 4.5V, JRi=5Q,R,

R,

20 Q,
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R, =

0~0.6 A, 0~3V,
. R, )
. Q
22. 20 Q, 1A,
220 V . i
70 °
23. Vv,
24. Ri R, : , I.
L= R, 1=
25. 846  JUan=6V.R =20 Q.R, =12 Q.R,=
30 Q. A, A, Al
A,
26. .
1 8-46
L. I :L—= .
27. 4 Q 6 Q s
A, . A,
28.  RiRoR: . R,
3 R, R, Ry 18 Q.
Q.R= Q.
29. 5V . 0.25 A,
. a, 10V . .
A,
30. 100 Q, U,
4/5U., a
3 e
2, I
L L,
31 8-47 (1) N
;(2) £ (3) a7

32. 8-48 "R N

'R,
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R, R
8-48
33. 8 Q R, o
@P) R=
R, o
(2) . R, :
. @ @ .
3 .
1) 8-49
T
(5) . .
o P
6 :
0~10 Q,
A, 8-49
V.
(D] s 8-50 o
Vv, Q.
8-50
34. 8-51 y R, 20 Q, P b ,



R .
3. 852
a s
8.4V, (D
(3 . 851
36. 8-53 R, 0~50 Q s
, 6V, ALLA, 0.5A 2A.
® R
® A, 0~3 A, A, 0~0.6 A,
8-52 8-53
37 851 LR=1Q. S.S, .S, 0.5 A,
SiuSy WS, , 2.25 A, R,
(R, <<R»)
38. 8-55 , Ri.R;.R; 20 Q.40 Q.60 Q,
V. . S ViV, ?
39. 855 . \ 10V, V. 50 V.
60 V, WR, o
40. 8-56 s R,=20Q,R,: R;=2+ 3, S 1
U
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. 2000 = U

[

2. 2001 8§57  mmmmmm—mmeon
savb.c.d va.d

sab  \be  .cd

1.5 W” , R

12V, ( ),
A. ab Jbe 8-57
B. ab Jbe
C.ab sod
D. be ved
3. 2001 8-58 s
R R, 3

A. R, % B. R, 8
C. 4
o)
4. 2001 8-59 , R

5. 2001 8-60 s U , .



R ¥ % 4 Kl 3

) S, U :U =1:3;

1 =1 ( Do

A3+ 1 B.1:1
C.1:3 D.4:3
6. 2001 8-61 . . 860
S Li.L, , P .
( )
A L B.
C. L D.
7. 2001 20 6Q
., 20 4V, 60 8-61

( Do
A.2A6V B.6 A\12V
C.2A12V D.0.5 A3V

8. 2001 . 10 Q .
50,10 Q s ( )
A. 50
B. 50
C 20 Q
D. 200 5Q
9. 2001 . . (
A. .
B.
C.
D.
10. 1998 8-62 .
. R, 10 Q,R,=18 Q,
Re<<R,. r a . 0.
27 A b C .
A.0.34 A B.0.38 A 8-62

C.0.42 A D.0.45 A

11. 2001 8-63 .

R, s I,



12.

13.

14.

15.

16.

17.
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2 Ry, s

L<I. LAGL. .

s ey
2001 8-64
. R=10Q,
a b, 2V
G
7). A,
1999 8-65
~50 Q , A
A, 0~3 A,  R,=3.6Q., 9V
’ ’ a. ’ 864
2001 8-66
. K .
. v, L
mE ey,
2001 8-67
R (
50 Q ), . (
A, (  3V.15V), .
C 12V, R’ S
; L R
R’ -
2001 Ri=2Q.R,=6 Q. R .R, 506
1.5V ., (D R
1. (2 R. (3 I.
2001 8-68 . .
2 .
ab.c.d , b.c
. 8-67
. , 0~0.6 A
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A.0.01 Q B.0.1Q C.10 Q D. 100 Q
2. 1:%, U:IR,R:%O
( )
A. ,
B. ,
C. , .
D. ,
3. 1994 8-72 R
s 50, : (2
A 12 Q) .2 , 0~3V,0~15V;
, 0~0.6 A,0~3 Aj;
i i . ) 8-72
( )
A.0~0.6 A 0~15V
B.0~3A 0~15V
C.0~0.6 A 0~3V b
D.0~3A 0~3V
4. 20 Q a
. ab s 8-73 0
( ).
A.% Q B.15 Q
C.50 D. L2 g 878



LT Y ) ) % i i 5

D , o
) W=UlIt “17,
(3 o

(D ) 1s

2 r=

(3 N N o
€Y o

o)) o
() o

o)) o
() N o
3 o

% BENNNS

1. H ’ w o ’

3. : , T, “©or , 1 =3.6x10°
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4. ( ) . :
T mEAD
T SR
1. s s ,
).

A.

B.

C.

D.
2. , C

A.

B.

C. s

D. s
3. 6V,

C .

A. 1C s 6]

B. 6 A

C. S 6]

D. s 6]
4. R, R, R, =2R,, ,

W, W.., .

AW, =W, B.W,=2W, C.2W, =W, D.W,=4W,

S. R, R, R, =2R,, ,
W, W,, ( ).
AW, =W, B.W,=2W, C.2W, =W, D.W,=4W,

) 2



(130
C .
Al B. L C.2
2
7. . R.
A. %W B. %W C. %W
8. 3V, 2 min
C .
A.180 A B.120 A C.60 A
9. , -
10.
VG
11. 2C .
V.
12. 220 V, 1 min
B P
Q,
13. 7 .
[3fof1]o].2]
14. 1 =
15. 220V 110V .
C, 1 min,
16. 9-1 R =12 Q, L
S . 3A. (D)
7 (2) 1h
17. 80 Q .
. 26400 ] .
18. 20 Q .
3C . 18 J,
?
19. 40 min.,

5 H @z rna

1
D.4
Vv, t
( Do
1
D 121/V
s 360 J,
D.1A
J) 1]J= Nm = VAs=
121,
30 C,
—A’ —_—
I, 7.2X10°
s sl
?
6Q, L
2 Ry 0
220 V H—g
7
’ 9-1
1.2X10* C, 1.2X10° ],

?
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20. 500 Q s 400 mA, 10 min
) 2 (2 ? (3

?

T BLRS

1.
(D o
(2 PZ?ZUI,
(3) : . N W, (kW) 1kW=1000W, 1 W=1]/s
=1 VA
W="rPt, P ) s (kWh),
“ 7, 1kWh=3.6X10°],
2.

“Pz220-25", 220V, 256 W,

THBHA

v

1. ( Do
A.kWh J B.kW W c.] W D.VA  VAS
2. 2 kW, ( Do
A. B. C. D.
3. “220 V 100 W” , ( ).
A. 220 V
B ; 25 W
C . 220 V
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D.
11. L, “6V 1.5 W, L, “6V3W”,
\Y% . , o ; ,
12.
(D .
A,
) 20 min _ kWh,
220V
50 Hz
360 W
3 ke
33 kg
13. . 1:2,
14. Ri\R, R \R, U\, 3:2;
R, 10W, R, W,
15. “220 V 800 W” . “220V” L8000 W”
16. 24, “P,220-40" R, R,
6 .
1 ? SN
(2) 3h, 30 . 1
?
17. 9-5 . Y . S, 9-5
.S, . R, 16 Sy S,, R,
9 W. R. ?
18. 9-6 Ry R, s
.S JAB . &
(DS . 2 y .
?
(2) R :tR,=9:1, 800 W, o6

?



My

P!E

P LRI

DLH

7
.

ul,

P=

o~
i
[ep]

9-7

i
hand]
o
=)

iR

=]

¢

JI

i

- SLil

7

@
~

L,

9-8

9-8
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A. B.
C D.
4. ’
: .
A.36: 25 B.25: 36 C.6:5 D.5:6
5. s
D ;
(2) b . )
(3) : : :
) , : ,
6. “ ” s 3.8V,
10 Q,
(1) 9 ’ ’

(2) 9-9 s @ @
® , ke

( Do

€Y) S r @@@ c D
£ i

( “A” “H”)

T8
(5 S r,
7\/ 4
. 9-9
(6) 9-10 s
W,
7. N 45V, .
“20 0.2 A” .
s “0.2 A7 (
) . ’ 9-10
( 10 Q) . s

(D o

U]‘»—\



TN
\. L })

)
(3 o

3.8V,

5 H @z rna

®

T BTN

1.
“220 V100 W “220V 15 W”
2. s
( ),
(

T BRI

1. “220 V 60 W
(
A.15 W,0.13 A

Do
B.30 W,0.27 A

R

110 V
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C.45 W,0.13 A D. 60 W,0.27 A
2. “220 V.100W” 220 V .
C .
A. 200 W B. 100 W C.50 W D.25 W
3. . .
. . P .P
. C .
A.P >P B.P =P c.p <r D.
4. “P2220-40” P2220-25" 220 V .
C .
A. .
B. . .
C. . .
D. .
5 9-11 s P (
A.
B.
C.
D.
6. 912 . . .
C .
A.
B.
C. R,
D. R,
7. N s “220 V.40 W” ,
“110 V.20 W” C . 9-12
A. 2
B. . 2
C. .
D. 220V 40
8. “12V.2 W7 “12 V.8 W” L, L.
) 12V . C .
APt Py=1:12 B.P:P,=4:1
C.P,:P,=1:14 D.P, : P,=8: 1

(2) 12V s ( Do



Ca42 0 B @O zrma

AP :Py,=1:2
C.Py: P,=1:4

B.Py:P,=4:1
D.Py:P,=8:1

9. R, U s P
s ( Do
A.P/2 B.P/4 C.r/8 D. 2P
10. . s 32,
A.2:3 B.3:2 C.9:4 D.4:9
11. “220 V.40 W”  “110 V.40 W” s
A. s
B.
C.
D.
12. , “110 V.30 W” “110 V.40 W”
( Do
A. 110V s
B.40 W 30 W, 40 W
C.30 W s
D. s
13. “6 V.3 W” L R 9V
, v -
Q.
14. “8V.2W” s 12V
. a . ,
W,
15. “220 V.,100 W” s
W, R, =
R,y R Ry, ( 7
16. “220 V.25 W” s
o 220V s
17. s 9-13 QD)

R
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2 (2

2 »1 (30

18. “4V.2W”

’

2 (3)
19. “220 V.60 W”

7 (
20. 9-15
6V, L,
L, s
(1) Li.L,
(2) Ki.K,

T BTG

1.

2. Q=I'R¢,

J.

bl

ﬁ\\%
lgD
5
i0

t
i
|

=W=UI:, U=IR

2 (3)
?
R 9-14
: (1) 3 (2) R
3 min ?
9-13
“220 V,100 W”
220V s
, 220V s
)
6V, I,
2 Vo K] ’KZ
0.2 A. i
7
o
9-15
I A9[< Qy[ S
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T EHBIER

8.

9.

s 2:1,
s ( Do
Al:2 B.2:1 C.1:4
s 1:2,
( Do
A.l1:2 B.2:1 C.1:4
s ,1 min
, (
( )
A Q  BQ C.2Q
( )
A.3:4 B.4:3 C.4:1
s “220 V.60 W”
s “220 V.60 W” )
( Do
A. B.
C. D.
2 A s
4 A, (
A.2Q B. 3Q C.4Q
R, R;, R/ >R,.
)5 ( Do
R, R, R, R,
|+ T 1+ ——
A B C
9-16
“220 V.15 W” s
A.4.2] B.6.3] C.15]
9-17 ,

U s

s “220 V.60 W”

’

Do
D. 8Q
9-16
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O9HO isam
- _ g
2

( Do
A.1/4 B.1/2
C.2 D.4
10. R :R=2:1, 017
1:1,=3:2,
( Do
A.3:1 B.3:4 C.9:2 D.9:8
11. 100 V., 4 A, 100 s,
( Do
A. 4X10*] B. 400 W
C. 400 J D. 25 Q
12. 2Q, 1 min 120 C,
( Do
A.30] B.240 ] C. 480 ] D. 14400 ]
13. N N °
14. 220V s 10 min 26400 J,
A, ] .
15. , 1,=31,,
. htt= .
Qi :Q=__
16. , 220V 110 V ,
Qi Q= . 1:2,
Q.:Q.,=__ .
17. “220 V.2.2 kW” , 0.5 Q.
1 min S I S
18. s , s
2A . min 3X10%] s
19. R,=10 Q, R,=5Q 9-
18 S s 2V,
(O R, ?
(2R, 1 min ?
20. , R\



TN
\. (@

5 H @z rna

R, Ri\R,
10 min, R,

% BENNS

1.

bl

SN
1%D

[

pusl
o -

=

110 V

C.

D.

220V,
o
D.
100 C,
(

Ry=4R,, R,
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D. s
5. C .

A. ,

B.

C.

D.
6. R, R, s Ri<R,, s

QU Q. Q@ C o

A.QI<Q; B.Qi=Q; C.Q>Q; D.

7. “220 V,100 W” s 110 V s
: C .

A.

B.

C.

D. >
8. “220 V.45 W” s s (

A.45] B. 220 ] C. 2700 ] D. 9900 ]
9. 200 Q, 2A, 10s

I
10. o .
11. 9-19 Ry =2R;, S s
s R, ?
12. 28 min s
2 ( 7 ) ’ 9-19
* *

T LoV
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C.
D.
2. “220 V.40 W”  “220 V.15 W” . 220V
( Do
A. 55 W
B. 15 W
C.
D.
3. 40 W, 220V,
36V, ( Do
A. B
C D.
4. R s s (
A. B
C. D
5. ) , (
A. B
C D.
6. 9-20 , P
( Do
A. s
B. ,
C. s
D. R 9-20
7. “220 V.60 W” ( )
A. 60 W
B. 220V
C. , 806 Q
D. ,
8. 0.5A ,1 min 100 ] o
1A, 1 min ( Do
A. 400 ] B. 100 ] C. 200 ] D. 800 J
9. U s Q.
U




NI
C.2Q D. 4Q
10. 9-21 s “10 V.5 W”
L, R
B C .1 B
“10 V.6 W” L, C s
( Do
A. 10V
B. L, 6 W
C. L, 6 W
D. L, 0.6 A
11. . s
s ( )
A. 4 B.
C. . D.
12. R+ Ry, : Ry=1:3:5,
QI Qy: Qs= ;
Q1:Q:: Q= o
13. R,
s (DU
. (2)R s
14. A 10 min
) 30 min
o C
min,
15. “ ? s
(D 3.8V,
(2) 9-22
o S s
3.8V? ,
3 0.5 A,
W,
16. 2.5V, 1w

U,

s

6V,

3.8V,

2.4V,

@

’

149



9-22

)
1 .
(2) :(D 1.5 V;®@ 4.5 V;® (0~0.6 A);
@® (0~3 A);® (0~3V);© (0~15 V)@ a
A5 Q);® (2A.15 Q);© ;00 ,
(3 o
A. )
B.
C.
D.
E. pP=UI,
F. , , 2.5V
G.
H.
4 . . , ,
(5) . . . v,

0.4 A, W,
17 15 Q. 1A
“OV.4.5W” L (D
12V . .
2 (2) ,
3.6 W,
?
18. 9-23 U=6V Ri=3Q0, (1)S,.S, 9-23
.Sy 5A, R,

? Ry ?
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(2)8,.5, .Ss R, ?
(3)S, .S58, JRiARy ?
19. , 9-24 .
. A.B.C .
A B s S
S 2 .
20. 20C, 5 kg 10 O g
. 10 A,
1) 21 min ?
(2) .

T hErm

N

1. 2001 ( ),
A AW B.40 W C. 400 W D. 4000 W
2. 2001 9-25
0.5 A, A, 0.8 A,L
6 W , ,
( )
A. 15.6 W
B. R 15.6 W 9z
C. R 10 Q
D. L 10V
3. 2001 R, U,
w, 1W, ( )
A. R s U . t 2
B. R , U 1. t
C. R , U 1, t
D. R , U , ¢
4. 2001 9-26 . .
S, P , L L, ( )
AL, L, B.L,L,
C. L, L, D. L, .L,
5. 2001 9-27 L,Ri=10Q,L “6 V.6 W”
7V, s 1C, (



% # +t 6z i

/"”'\
L1582
sl
81” P
9-26
B. R 1w
C. R 1]
D. L
6. 2001 oLy
” s L, 6 Q.
( Do
A.12 V.3 W B.12 V,1.5 W
C.9V,3 W D.9V,1.5 W
7. 2001
A,
8.2001
o s Ry R,
9.2001 9-29

=

“6 V.3 W”

L,







17 3 % 4 @ znmm

7 ( 1

(2 min
)
(3 s 90% »
?
220 V
840 W
50 Hz
1L
2 kg
14. 2001
, 220V . “P2z200-40” . (D
(2) ?
(3 50%
Q2 ( )
15. 2001 9-32 JR,=120 Q,
L “6V.3W” , R,
80 Q.
1 5.5, , 9-32
, 16Q, O 7@
?
(2) Si.S> s s ?
16. 2001 9-33 )
s “6 V.7 W” .
D S, .S, a . R,
L 2:1, )
40 s 10C,
. . R, . . 9-33
2 S, .Sy b . )
r ? R, R, 1:4
:R, .
3 5 .S, a . R, Py, S .S, b
P b . R, r. P
P, i

17. 1998 A.B



' / ‘ \\ . P 155

,20 min N A

)
T ShpssERm

1. 2000 10 A,

4 “220 V.60 W” »1 “220 V.1000 W” ,1
140 W 80 W , Do

D. 1000 W
3. 1998 , 220V

A. 1C s 220]
B. s 220 C
C. Is 220]
D. 220 C s 1]

B.
C.

5. 1999 10 L/min,
50C, 4 min, .

20C
(@) s o



TN
\. 5@

il = 1= ] 5] Lon ] & KL 3

-‘
(2) .
80% ,
6. 1997 9-34 )
,L 6V s
20Q. S ’ r
s, L ;P s
4V, ?
7. 1998 N (110
V.60 W) (110 V.25 W) .
(1) ? )
(2) s
s ?
3 ?
8. 1997 “220 V.800 W”
10 min R
) 12 min
1. ,1C 1.118X 10 * kg
10 g s G,
min, A,

9-34

20



C 157

(1) : 220 Vo b ’ 9
(2) : ’ 3
s o “220 V.5 A”

(3) : o
4 : N ,

(5 : , ,

(6) : > o



"4

=KLl T

P
&

4
i
A

p

4 3]/‘,

5

5B @r

/"”'\
158

g
i
hand]
o
=)

wl/,%

b

iR

=]

¢

JI

L

Al

D.

220V

(Y%

220V
120 V
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s

8. “220 V.10 A” . B
W

9. N ,

10~ b

11- 9 ’

12. kWh .
B, == \

T BLAS

1. . .

w

T BRI

.

1 ( Do
A. ,
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